JES/JER

Hou Yingqi

2025/3/19



Genmatch

..... RecoJets > before

\ : data_barrel[ (data_barrell["jetl GENMatch_id"] != data_barrel["jet2 GENMatch_id"]) ]

@ only cases 1 and 2 are excluded, but case4 is also included.

| AR = JAp? + An?

(D GEN1->1 GEN2->1

....... :><““' @ GEN1->2 GEN2->2

gMatCh “J @ GEN1->1 GEN2->2
Frbm Zebing

@ GEN1->2 GEN2—>1

> NOW
datal_barrel[(datal_barrel["jetl GENMatch_id"] ==@) & (datal_barrel["jet2 GENMatch_id"] ==1)]

€ only cases 3 are included.



fit result
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» The point hopping
problem is solved.
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jet1 and jet?2
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jet1 and jet?2
> in 70~80GeV
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jet1 and jet?2
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jet1 and jet?2

> in 70~80GeV
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with endcap
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